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K-wefvM 

1| †h †Kv‡bv `kwU cÖ‡kœi `vI:              1 × 10 = 10 

 (K) eÛ B‡ÛÂvi Kx ? 

 (L) ˆbwZKZv ej‡Z wK eyS ? 

 (M) AvšÍR©vwZK wnmvegvb †evW© Kx ? 

 (N) mvgÄm¨Zvi bxwZ Kx ? 

 (O) MÖxb GKvDw›Us Kx ? 

 (P) G‡RwÝ ZË¡ Kv‡K e‡j ? 

 (Q) wnK&m Avq ZË¡ Kx ? 

 (R) wbqš¿Y Kx ? 

 (S) weM-ev_ ej‡Z Kx eySvq ? 

 (T) eªvÛ Kx ? 

 (U) mybvg Kx ? 

 (V) CAPM Kx ? 

L- wefvM 

‡h †Kv‡bv cuvPwU cÖ‡kœi DËi `vI:              4 × 5 = 20 

2. wbqg I Z‡Ë¡i g‡a¨ cv_©K¨ ‡`LvI| 

3. ivR¯̂ ¯x̂K…wZ bxwZi Zvrch© eY©bv Ki|  

4. IFRS Gi D‡Ïk¨vewj Kx ?  

5. Av‡qi gm„YZvi we‡eP¨ welqmg~n wK wK ? 

6. A 9%, 12 years Bond of TK. 5,000 has been issued @ 5% discount and  

  redeemed @ 3% premium. If floatation cost is 2% of face value, then,  

 calculate its approximate YTM. 

7. On September 1,2016, Drug Corpotation acquired Dragon Enterprises for  

 cash payment of Tk. 3,00,000. At the time of purchase Dragon’s Blance sheet  

 showed assets of Tk. 2,48,00, Liabilities of Tk. 80,000 and Compute the  

 amount of Goodwill acquired by Drug. 

8. Sumona Motors bonds have 10 years remaining to maturity. Interest is paid 

 annually. The bonds have a Tk. 1,000 per value, and the coupon interest rate  

 is 8 percent. The bonds have a yield to maturity of 9 percent. What are the  

 current market price of these bonds ? 

 

 

 



9. The Mahin Ltd. wishes to calculate its cost of equity capital using the CAPM  

 approach. The following information are available- 

RF = 10% 

b = 1.5 

Km = 12.50% 

Compute required rate of return on equity capital. 
M-wefvM 

‡h †Kv‡bv cuvPwU cÖ‡kœi DËi `vI:            10 × 5 = 50 

10. g~j¨‡eva I Revew`wnZv m„wó‡Z wnmveweÁv‡bi f~wgKv Av‡jvPbv Ki|  

11. Rb wnK‡mi wZb ai‡Yi AvqZË¡ Av‡jvPbv Ki|  

12. K‡c©v‡iU Mf‡b©Ý Kx ? Gi g~jbxwZmg~n eY©bv Ki|  

13. K‡c©v‡iU †m±i I cvewjK †m±‡ii g‡a¨ cv_©K¨ wjL| 

14. The following information relates to Sagar Corporation: 

Goodwill Tk. 1,12,00, Preliminary expense Tk. 40,000, Investment Tk.  

3,00,000, Cash Tk. 40,000, Other fixed assets Tk. 9,00,000. 

 Market value of investment Tk. 3,60,000 of which Tk. 60,000 represent and  

 idle fund. The Co.’s short-term liabilities amount Tk. 2,40,000. Long-term loans  

 amount Tk. 1,20,000 and Debentures tk. 200000.Reserve fund  Tk. 50,000. Net  

 profits: 2010 = Tk. 1,00,000, 2011= Tk. 30,000 and 2012= Tk. 70,000 

 Normal profit expectation of similar Co. is 15%. 

 Required: 

 Calculate the goodwill of the Co. 

15. You are given the following information of Alfa Ltd: 

 Sales       50,000 units  

 Selling price per unit     Tk. 30 

 Variable cost per unit     Tk. 15 

 Fixed operating cost     Tk. 3,50,000 

 Total assets      Tk. 12,00,000 

 Share capital (Tk. 10 par value)  Tk. 7,00,000 

 10% Debt capital     Tk. 5,00,000 

 Corporate tax rate     50% 

 Proposed increase in sale by 25% (in terms of unit) 

 Instruction: Calculate EPS and ROA at both levels. 

16. Assume both portfolios A and B are well diversified. Expected return of A  

 and B are 0.135 and 0.148 respectively. If the economy has onle one factor  

 and Beta of A = 1.00, while Beta of B = 1.20 what must be the risk free rate ? 

17. Lawrence industry’s most recent annual dividend was Tk. 30 per share (Do=  

 Tk. 30) and the firm’s required return is 15%. Find the market value of  

 Lawrence’s share when: 

a. Dividends are expected to grow at 10% annually for 4 years, followed by a  

 6% constant growth rate form year 5 to infinity. 

b. Dividends are expected to grow at 10% annually for 4 years, followed by a  

 0% annual growth in year 5 to infinity. 


